Chapter 6 review

Sections labeled at the start of the related problems

6.1 Simplify by removing a factor equal to 1. l
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Simplify by removing a factor equal to 1.
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6x2 + 19x + 10 If you reduce and nothing is left,
you are actually left with 1, so
don't forget to leave it there. In
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M) this case, itis all that is left in the
denominator.
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2 _ If wour factors are exact
4) m—9m opposites, like m-9 and 9-m, or
9-m d-x+y and -d+u-y, they will
cancel and leave a-1. The -1
can either be left in the

m/q numerator or the denominator.
m Just make sure that you don't
- leave it in both, or they would
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cancel and this is not correct.
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YWhen you factor out a sum or

y _ 6 X 9%9 tj — diffference of cubes, the
_ _ resulting trinomial factor is either
p——

prime or very difficult to factor,

J— 50 if you are trying to reduce,
X?‘,’— C_)_ look for another trinomial factor
that is the same to reduce.

Write in simplified form and list all restrictions on the domain.
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Make sure you find the domain
restrictions before you simplify
factors or you will not get all of
the exceptions to the demain.
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Multiply and simplify.
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Divide and simplify.
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Perform the indicated operations and, if possible, simplify. Recall that multiplications and divisions are performed
in order from left to right. 3 n
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6.2 Perform the indicated operation and simplify.
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Find the simplified form for f(x)and list all restrictions on the domain.
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Perform the mdlcated operation and simplify.
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Be very careful when
subtracting terms. Make sure
the negative sign gets properly
distributed into the entire
numerator.
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oy —x .y [ = X _—
2x-3y 3y-2x (-1) ‘?X/%V ;X’3V

If wou have exact opposite
denominators, they are basically
already in common. All you
need to do is multiply one of
them by -1/~1.




Perf he ind d d lif /\—E;U'\
erform the indicated operations and simplify.
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The method | use is the 2nd
method taught in the book, and
is the fastest method | have
found to simplify these complex
rational expressions.

Iake sure you multiply the
NUMERATORS of ALL of the
individual terms in the entire
fraction by the same LCD.

A, problem with negative
exponents should first be
rewritten in a complex rational
fraction form, and then
simplified. Make sure yvou apply
the negative exponent only on its
base. The 4 in the second
numerator term is not part of the
base of the -2 exponent, and so
doesn't get flipped or squared.
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4 Solve. ' '
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This problem has an extraneous
solution x=0 that causes the
second and third fraction to
have a divide by zero error.
This is the reason it is tossed
out, leaving no solution.




Find all values of a for which f(a) is the indicated value.
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For the pair of functions f and g, find all values of a for which f(a) = g(a).
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6.5 Solve.
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Solve.

34) One maid can clean the house three times faster than another. Working together they can clean the entire
house in 3 hours. How long would it take the faster maid cleaning alone?
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35) Frank can type a report in 4 hours and James takes 5 hours. How long will it take the two of them typing

together?
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36) Jeff takes 5 hr longer to build a fence than it takes Bill. When they work together, it takes them 6 hours.
How long would it take Bill to do the job alone?
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37) A loaded moving truck is traveling 20 mph faster than a freight train. In the time it takes the train to travel
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ype of distance problems by
xzspeed ol fnk gt D=RT, T= D ez e
Y 20= gpeed A ton R
_}/ - T :? D—rrwk — D—Fﬂam - ( 'E'TO — q D AC D; )((,]»—)O\
= T = = '__,7 —_— T ey S
e k " Aruk R i y X —}0
(Y 70‘1
(50 A7 90 i) (SS(x30) = 90X = ISDX ~300 2qoxX =7 (ox= 300

X }’%’6 “40r +200 A F0D Go oo

= x=
38) The speed of a stream is 5 mph. If a boat travels 48 miles downstream in the same time that it takes to

travel 24 miles upstream, what is the speed of the boat in still water?
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39) A jet plane traveling at a constant speed goes 1200 miles with the wind, then turns around and travels for
1000 miles against the wind. If the speed of the wind is 50 mph and the total flight took 4 hours, find the

speed of the plane in still air.
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6.6 Divide.
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are done.
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Find a simplified expression for F(x) if Fp) (f/g)(x).
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6.8 Solve the formula for the sgecified letter.
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In long division, make sure to
use place holders if any of the
powers of x are missing. This
willl allows your worl to line up
nicely and ends up being much
more consistent and easy to do.
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Solve the formulas for a variable
the same way you solve a linear
equation of one variable. That is
1- Clear Fractions

2- Distribute into parentheses

3- Isolate the object you are
trying to solve for.

If after step 1 and 2 you find
mare than one term with the
object you want to sole for, you
get all of these terms on the
same side and the rest on the
other side. Then you should be
able to factor out the wanted
object. Then divide by the
remaining stuff and you are
done.
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Solve the problem.
48) The formula
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gives a student's average A after T tests and Q quizzes, where each test counts as 2 quizzes, t is the test
average and q is the quiz average. Solve for T.
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